
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5722.7 × 0.01 = ________ 2120.9 × 0.1 = ________

6439.2 × 0.001 = ________ 8496.2 × 0.01 = ________

5799.8 × 0.1 = ________ 8005.7 × 0.0001 = ________

8251.1 × 0.001 = ________ 7360 × 0.1 = ________

5243 × 0.0001 = ________ 1920 × 0.0001 = ________

3669 × 0.001 = ________ 9555.6 × 0.1 = ________

9000.1 × 0.01 = ________ 6824.4 × 0.0001 = ________

8051.9 × 0.01 = ________ 2166.9 × 0.001 = ________

8213.1 × 0.1 = ________ 1016.4 × 0.001 = ________

7133.7 × 0.1 = ________ 3797.4 × 0.1 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by negative powers of ten

5722.7 × 0.01 = 57.227 2120.9 × 0.1 = 212.09

6439.2 × 0.001 = 6.4392 8496.2 × 0.01 = 84.962

5799.8 × 0.1 = 579.98 8005.7 × 0.0001 = 0.80057

8251.1 × 0.001 = 8.2511 7360 × 0.1 = 736

5243 × 0.0001 = 0.5243 1920 × 0.0001 = 0.192

3669 × 0.001 = 3.669 9555.6 × 0.1 = 955.56

9000.1 × 0.01 = 90.001 6824.4 × 0.0001 = 0.68244

8051.9 × 0.01 = 80.519 2166.9 × 0.001 = 2.1669

8213.1 × 0.1 = 821.31 1016.4 × 0.001 = 1.0164

7133.7 × 0.1 = 713.37 3797.4 × 0.1 = 379.74
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